Have your inequality homework out on your desk to be checked.

Module 9 Test Review Name
1) Whatis the inverse of addition? (Circle One)
A) Subtraction B) Multiplication C) Division
2) SHOW WORK to receive full credit S l“; w CL\L—L K
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Find the value of x:
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3) SHOW WORK to receive full credit

Find the value of x: C\\CC/L
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4) SHOW and CHECK to receive full credit (

Find the value of x: '7 H L)( Lt (_g\ = qo (0
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5) The inverse of multiplication is: . (Circle one)
A) Subtraction B) Addition C) Division

6) Which value of b makes the equation
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7) SHOW WORK to receive full credit

Find the value of x:
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8) SHOW WORK to receive full credit . q »\
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Find the value of x: |-\-. S o q
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9) Select all the values of m that make the inequality m < 7.4 true.
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The temperature was no more than 78 degrees.
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Choose the inequality to match the graph: 4
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A) x>5 B)x<5 C)x>5

Choose the situations that can be expressed by the following inequality:

(Choose all that apply)

i | X < 30
\éj’;u must be o more thar than 30 years old to join the club. N°+ o¥e WV\ -

Cakes take at least 30 minutes to bake. x > ZO

Y’:)u have no more than 30 minutes to answer the three questions. X < 3 o
___ The bill at the restaurant will be at least 30 dollars. 7( Z 30
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